
Geometry Honors Mathematician: ________________________________ 
Unit 6: Congruent Triangles  Period:___________ 
Unit 6 Review 
 

Target 1: Classifying Triangles 

Directions: Determine the type of triangle. Select all that apply.  
 

1)  𝐴(−1,3), 𝐵(5,5), 𝐶(4, −2) 

 
(A) Scalene  (B) Equilateral 
(C) Isosceles  (D) Acute 
(E) Obtuse  (F) Right 

2)  𝐴(−1, −1), 𝐵(−5, −1), 𝐶(−1, −8) 

 
(A) Scalene  (B) Equilateral 
(C) Isosceles  (D) Acute 
(E) Obtuse  (F) Right 

 

3)  In  are complementary and 

equal. Which type of triangle is  
 
 
 
Select all that apply. 
 
(A) Scalene   
(B) Isosceles   
(C) Acute   
(D) Right   
(E) Obtuse 

4)  In ∆𝐴𝐵𝐶, ∠𝐴 = 32˚ and ∠𝐵 = 24˚. Which type of 

triangle is  
 
 
 
Select all that apply. 
 
(A) Scalene   
(B) Isosceles   
(C) Acute   
(D) Right   
(E) Obtuse 

Directions: Classify the following triangles by sides and angles with the most accurate descriptions. 
5) 6) 7) 

 
 
 

DABC,  ÐA and ÐB

DABC? DABC?



Target 2: Apply Properties of Isosceles and Equilateral Triangles 

 

8) The perimeter of the triangle pictured is 32 
meters. What is the value of x?  

 
 
 
 
 
 
 
 
 
 

 

9) Δ𝐴𝐵𝐶 is isosceles, with vertex angle at B. 
BD, is an angle bisector of ∠𝐵. Find the value 
of the variables. 

 

10) Trevor says the triangle below is not an 
equilateral triangle, because neither all the sides 
nor all the angles are marked as congruent. Do you 
agree with Trevor? Explain. 
 
 
 
 
 
 
 

11) The height of an equilateral triangle is 

6√3. What is the length of one side of the 
triangle? 
 

12) Prove that the triangle with the following 
vertices is an isosceles triangle. Make sure to 
include the perpendicular bisector and midpoint: 
𝐴(−6,3) 
𝐵(1, −6) 
𝐶(−2,5) 
 

 
Target 3: Properties of Congruent Triangles 

13)  ∆𝑀𝑁𝑂 ≅ ∆𝑃𝑄𝑅. If 𝑚∠𝑃 = 2𝑥2 − 22,                       
∠𝑀 = 10 − 12𝑥, and  𝑁𝑂 = −2𝑥 + 4.  Find 𝑥 and 𝑄𝑅.  
 
 
 
 
 
 
 
 
 
 

𝑥 = ___________  𝑄𝑅 = ____________ 

14)  ∆𝐴𝐵𝐶 ≅ ∆𝐷𝐸𝐹. If 𝐴𝐶 = 𝑥2 + 93, 𝐷𝐹 = 20𝑥 − 7, 
and  𝐸𝐹 = 5𝑥.  Find 𝑥 and 𝐸𝐹.  
 
 
 
 
 
 
 
 
 
 

𝑥 = ___________  𝐸𝐹 = ____________ 



15) ∆𝐴𝐵𝐶 ≅ ∆𝑋𝑌𝑍 ∆𝐴𝐵𝐶 has coordinates 
𝐴(−2,2), 𝐵(−10,2), 𝐶(−6,8). ∆𝑋𝑌𝑍 has 
coordinates 𝑋(2, −4), 𝑌(2,4), 𝑍(𝑎, 𝑏). What must the 
values be for a, b, and their sum? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
a = __________ b = __________ sum = __________ 

16)  DABC  has coordinates 𝐴(3,7), 𝐵(10,6), 𝐶(6,4)

DXYZ  has coordinates  𝑋(−8, −6), 𝑌(−2, −1),  
𝑍(−6, −9). 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Are the 
triangles 
congruent? 
 
 
(A) Yes  (B) No 
(C) Unknown based on the information 

17) Given that ∆𝐴𝐶𝐷 ≅ ∆𝐺𝐹𝐾, which of the following 
statements are true? (Select all that apply) 
 
 
 
 
 
 
 
 
 
(A) ∠𝐴 ≅ ∠𝐺 
(B) 𝐶𝐷̅̅ ̅̅ ≅ 𝐺𝐹̅̅ ̅̅  
(C) 𝑚∠𝐹 + 𝑚∠𝐺 = 𝑚∠𝐴 + 𝑚∠𝐶 
(D) 𝑚∠𝐷 < 𝑚∠𝐺 + 𝑚∠𝐹 
(E) ∆𝐺𝐹𝐾 is an acute triangle 
 

18) Given the following diagram and that ∆𝐴𝐵𝐶 ≅
∆𝐷𝐸𝐶, what conclusions can you draw? (Select all that 
apply) 

 
 
 
 
 
 
 
 

(A) ∠𝐴 ≅ ∠𝐸 
(B) ∠𝐵 ≅ ∠𝐸 
(C) ∠𝐴 and ∠𝐷 are Alternate Interior Angles 
(D) 𝐵𝐶̅̅ ̅̅ ≅ 𝐶𝐸̅̅̅̅  
(E) 𝐴𝐶̅̅ ̅̅ ≅ 𝐸𝐶̅̅̅̅  
 

 

Target 4: Prove Triangles Congruent 

Use the diagram to answer questions 19 and 20. State the congruence that is 
needed to prove ∆𝐴𝐵𝐶 ≅ ∆𝐷𝐸𝐹 using the given postulate or theorem.  
Select all that apply.     
 
19) Given: 𝐴𝐵̅̅ ̅̅ ≅  𝐷𝐸̅̅ ̅̅ , ∠𝐵 & ∠𝐸 are right angles Use HL.  
 

(A)    (B)   (C) ∠𝐴 ≅ ∠𝐷   (D) ∠𝐶 ≅ ∠𝐹   (E)   
 
20) Given: ∠𝐴 ≅ ∠𝐷, 𝐴𝐵̅̅ ̅̅ ≅  𝐷𝐸̅̅ ̅̅ ; Use SAS 

(A)    (B)   (C) ∠𝐴 ≅ ∠𝐷   (D) ∠𝐶 ≅ ∠𝐹  (E)   
 

AB @ DE CA @ FD CB @ FE

AB @ DE CB @ FE CA @ FD



Directions: Determine which of the triangles are congruent. If the triangles are congruent, state a reason (SSS, 
SAS, ASA, HL, AAS). If there is not enough information, write “not enough information”. 
 
21)   
 
 
 
 
 
 
 
 
Congruent?   YES    or   NO 
 
Reason? ___________________ 

22)   
 
 
 
 
 
 
 
 
Congruent?   YES  or  NO 
 
Reason?__________________ 

23)   
 
 
 
 
 
 
 
 
Congruent?   YES  or   NO 
 
Reason? ___________________ 

24)   
 
 
 
 
 
 
 
 
Congruent?  YES  or  NO 
 
Reason? _________________ 
 

 

Free Response 

 
25) Given: N is the midpoint of 𝐴𝐵̅̅ ̅̅ , 𝐴𝑋̅̅ ̅̅ ≅ 𝑁𝑌̅̅ ̅̅ ,  
  𝑁𝑋̅̅ ̅̅ ≅ 𝐵𝑌̅̅ ̅̅   
 Prove: ∆𝑋𝐴𝑁 ≅ ∆𝑌𝑁𝐵 
 
 
 
 
 
 
 
 
 
 
 

Statements Reasons 
(1) (1)  

 
(2) (2)  

 
(3) (3)  

 
(4) 
 

(4) 

(5) (5) 
 

 
 
 
 
 
 
 

 
26) Given: 𝑅𝑇̅̅ ̅̅ ≅ 𝑅𝑉̅̅ ̅̅ ,  𝑇𝑆̅̅̅̅ ≅ 𝑉𝑆̅̅̅̅  
 
 Prove: ∠𝑇𝑅𝑆 ≅ ∠𝑉𝑅𝑆 
 
 
 
 
 
 
 
 
 
 
 

Statements Reasons 
(1) (1) 

 
(2) (2) 

 
(3) (3) 

 
(4) (4) 

 
(5) (5) 

 
  



 
27) Given: 𝐵𝑉̅̅ ̅̅  bisects ∠𝐸𝑉𝑂,  𝐵𝑉̅̅ ̅̅  bisects ∠𝐸𝐵𝑂 
 
 Prove: ∆𝐵𝐸𝑉 ≅ ∆𝐵𝑂𝑉 
 
 
 
 
 
 
 
 

Statements Reasons 
(1) (1) 

 
(2) (2)  

 
(3) 
 

(3)  

(4)  (4) 
 

(5) (5) 
 

(6) (6)  
 

 

 
28) Given: 𝑇𝑃̅̅̅̅ ⊥ 𝐴𝑆̅̅̅̅ ,   
  𝐴𝑃̅̅ ̅̅ ≅ 𝑆𝑃̅̅̅̅   
 Prove: ∆𝐴𝑇𝑃 ≅ ∆𝑆𝑇𝑃 
 
 
 
 
 
 
 
 

Statements Reasons 
(1) (1)  

 
(2) (2) 

 
(3) (3) 

 
(4) (4)  

 
(5) (5)  

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


